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Question # 8 of 10 ( Start time: 12:58:25 PM, 10 December 2019 )

[Each array declaration must provide the information about all these things except.

Select the correct option

[Name of the array

Type of data stored in the aray

[The location of the firs element 1o b stored

[Number of elements of the array
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Question # 10 of 10 ( Start time: 01:00:23 PM, 10 December 2019 )

‘can say that a pointer is a variable that hold the ___ address.

Select the correct option
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Question #7 of 10 ( Start time: 12:57:14 PM, 10 December 2019)
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